
STD X                   Maths Self Assessment Test                         Duration :45 min             Full Marks :20 

1.  If a ,b ,c and d are in continued proportion , prove that   

(b-c)2   +(c-a)2 +(d-b)2 =(d-a)2                                                                                                               [4]                                                                                                                                    

2. Find two numbers such that the mean proportional between them is 12 and the third 

proportional to them is 96.                                                                                                                 [4] 
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      solve for Matrix X  if 3X +B +2A =0                                                                                                      [4] 
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=  1 2  . Find  i) the order of matrix M. ii) the matrix M                                  [4] 

 


